RV3FJ LOWER BAG SUPPORT vso

ST4.0X14PT SCREW

B1C-33X-FWST04

LOWER SADDLE

STURT TUBE
T3F-07H-LBALXX

SADDLE ARM LEFT

P3J-20H-SCPPXX

M6 X 168 mm BOLT

B3F-07X-LBM6XX

ADJUSTMENT KNOB
P14-02R-GHASSM

UPPER STRAP
Z3J-01X-UBXXXX

STRAP COVER
P3J-19H-SCPPXX

SADDLE ARM RIGHT
P3J-15H-SCPPXX

ST4.0X17.5PT SCREW
06-M41-ST4X18

STRAP CLIP LOWER
P1S-24BL-XXPPXX
M5X43 BOLT
B3F-01X-SCM543

M6 NYLOCK NUT
06-M44-M6x6NL

LOWER RIGHT
SADDLE BLOCK
P3F-06H-FWPAFG

M5 NYLOCK NUT
06-M43-M5NL

LOWER LEFT
SADDLE BLOCK
P3F-05H-FWPAFG



